Au;;ie pump‘ AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: B3KQ-A/B “W" WITH OR WITHOUT PULLEY
CAT AS69

Fﬁﬂi
BY15 6107 EUFSQDEE 9057 F136
k\ ] /)

A AVAA | VN

. 7 —

; f,x'—ﬁ'?'l#
6029
F553
9595
== - 5875
N 5465
] S e T
] '
el el |III
— §323
9848 - \ \\
F476 — : kY \—55152

6177 — / / ; / ! \— F118
/ 1 7
aaEnn | 3

F135 6813 9138 H396 H4le 9159 "u'm
Part Retall
Number  Qty Description price Number  Qty Description price
5442 1 S/Steel OEB Screw M6x15 $5 9066 2 Counterweight $65
5452 1 Snap Ring | 47 $7 9138 1 Diaphragm SCH-2801/A $179
5465 2 Bearing 6204 2RS $41 9159 1 Seal Ring 19x31x3 $17
6029 1 Flex. Gasket B 2618 $8 9595 1 Support B-2612/A $281
6102 1 Check Valve B3KQ-A $34 9848 6 OEB S/Steel Screw M10x20 $6
6323 2 Key B 4x4x15 $5 F118 1 Shaft AISI 316 $328
H396 1 Mech. Seal 19-39-13 $48 F135 1 Conical Tap ¥4" Gas $22
H416 1 Counterface 21-38-8 $104 F136 1 Conical Tape %2" Gas $35
6813 1 Bronze Impeller $408 F476 1 Nut M12x1.75 $14
8914 1 Bronze Pump Casing $1,997 F553 4 Stainless Steel Screw M10x18 $4
8915 1 Bronze Check Valve $414 F739 1 Steel Nut M6x1 $7
9065 1 Counterweight $47 H066 1 Washer D.13x24x2.5 $5

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

Al prices include GST GMP/AUG 12/1



